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? A paint roller, in the shap:e of a cylinder has radius 3em

. and length 25 cm, What area of wall is painted with one
) complete revolutxon of the rofter?
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Thrce laroe wooden cubes (with the given edges) are arranoed
vina pile on the floor,

Wpr}_c'out the total visible surface area.
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¢ A paint roller, in the shapé of a cylinder, has radius 3 cm

and length 25 cm. What area of wall is  painted with one
complete revolution of the roller?
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"Three large wooden cubes (with the given edges) are arranged
-in a pile on the floor.

Wprk out the total visible surface area. /
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